CORREZIONE VERIFICA 1 (fattorizzazione)

1) a*-a-30=(a-6)(a+5)

2) 4a’-ba+l=4a’-4a-a+l=4a(a-1)-(a-1)=(a-1)(4a-1)

3) X+ x2x+1=x2(x+1)+(x+1)=(x+1)(x? +1)

4)  x*-13x*>+36= (x2 —4)(x2 —9) =(x+2)(x—2)(x+3)(x-3)

5)  a*+b*—2a%h? =(a2—b2)2 —(a+b)*(a-b)?

6)  t4—4t?+4t—1=t4—(2t2 -1)° =(12 +2t-1)(t2 =2t +1) = (2 + 2t 1) (t 1)’
7) x2+y2+2xy—4x—4y+4:(x+y—2)2

. a® +a2c —2ac? —a2b—abc + 2bc? = a(a2 +ac—2c2)—b(a2 +ac—2c2) =
= (a2 +ac—202)(a—b) =(a+2c)(a-c)(a-h)

0 8% +12x2 18X — 27 = 4x?(2x+3) - 9(2x +3) = (2x+3)(4x2 - 9) =
= (2x+3)(2x+3)(2x—3) = (2x+3)* (2x-3)

10) Col “metodo del completamento del quadrato”
X% —2X — 624 = x? —2x+1—625=(x—1)2 —625=
=(x—1+25)(x—1-25)=(x+24)(x—26)
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